N

8.

FLEETWOQOD

WINDOWS & DOOR S

Series 3800-T

Aluminum Fixed Window
w/ Thermal Break Frame
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida
Building Code (FBC) structural requirements including the "High Velocity Hurricane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

When used in the "HVHZ" this product complies with Section 1626 of the Florida Building Code
and does not require an impact resistant covering.

When used in areas outside of the "HVHZ" requiring wind borne debris protection this product
complies with FBC Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant
covering. This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM E
1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for
2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis
by a licensed engineer or registered architect.

This product meets water infiltration requirements for "HVHZ".
Gaskets and setting blocks shall comply with FBC Section 2411.3.4.

Aluminum components, including fasteners, shall meet the requirements of FBC Section 2003.

TABLE OF CONTENTS

DESCRIPTION

Typical elevations, design pressures and general notes
Elevations

Horizontal cross sections

Fin vertical cross section

Buck and frame anchoring

Glazing details

Bill of materials and components

SHEET#

N[O~ OB [WIN|—

S
_ 525'MAXOA.__ _ 3‘0‘\
FIN WIDTH SR
50" MAX £ I:'%’
FRAME WIDTH =98
47" MAX 3y
" D.LO.WIDTH - >
,’/
60" MAX ——— /
FRAME WIDTH
57" MAX
) D.L.O. WIDTH
':l—: | ot —
== z L=
(ORNU) = =0
m o < < 4
T o 3
s X
—i < <
> h 33
23 s
5 K~
8 =
X 1
FRAME MOUNT FIN MOUNT
OVERALL OVERALL OVERALL DESIGN PRESSURE (PSF)
FIN FRAME D.L.O. GLASS TYPE
DIMENSION DIMENSION DIMENSION POSITIVE | NEGATIVE
62.5" X 122.5" 60" X 120" 57" X 117" G1, G2 +60.0 -60.0
52.5" X 146.5" 50" X 144" 47" X 141" G3 +65.0 -65.0
42.5" X 98.5" 40" X 96" 37" X 93" G4, G5 +65.0 -65.0

August 10, 2020

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

s 1R

PRESSURES & GENERAL NOTES

TYPICAL ELEVATION

PRODUCT:

JK | PART_OR ASSEMBLY:

Lynd F. Schmidt
5Ac| FLEETWOOD WINDOWS AND DOORS | B E No. 43409
JK
BY

LFS

8/10/20 |UPDATE TO 7TH ED. (2020) FBC

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

3 |08/03/17 |UPDATE TO 6TH ED. (2017) FBC
NOJ| DATE

2 |08/22/16 |REVISE SERIES NAME

4

REVISIONS

DATE: 2/26/14

CHK. BY:

DRAWING NO.:
FL-16925.1

SHEET _1 oF 7

\\dcO1\rwbc\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-16925 Fixed Windows\C - Drawings\FL 16925 (2020)\FL-16925.1-.3.dwg

© 2014 R.W. BUILDING CONSULTANTS INC.



TON| SLNVLINSNGOD 9NIQTHNE "M'd v LOZ §

€186 ON Ansibey 3Ided SNOISIATY 5
LBLB'6G9'CLB "ON 8uoyd Ad 31vd JONIw«| . NN
S6SEC T4 ‘OOMIDA ‘O£Z Xog ‘O'd g SNOLVAT I3 A 084 (r10z) 03 HIS OL 3lvadn| Gi/zz/¥0l L |J| " X M Q F_
*ONI ‘SLNVLINSNOD ONIgIiNg @u ANTENISSY H0 1dvd | yp JINVN SIIY3S 3SIAFY| 91/22/800 2 Mm._ = . % o
S41| 084 (£10z) 'a3 HI9 Ol 3ivadn| £1/50/80] € NP g N 2_
yv_%mwwv.u.o%ommﬂ S¥00d OGNV SMOGNIM QOOMLIT1H oval 284 (020z) ‘g3 Yi/ ol 3ivadn | 0e/0L/81 + h m M w m = m
“.:Ag peiodeid sjuswnoog :10NA0Hd 3 ZlS W %
2020Z ‘0l 3snbny
////

' [

z

3

O A4 - =

=

.

//,/
- ™ )
/
V/// v

[

=z

-

O

@) 2

(X8}

=

<

i

//,/

BMP'E -1 52691 -14\(0202) 52691 19\SPUIMEIQ - D\SMOPUIM PaXi] 5269L-14\s|er0iddy 30npoid epHOjd - VALNINYINYId POOMIB3|\SIulD\qMmALOoP\



*ON} SINVLIIASNOD 9NIGTHNE "M + 108

£186 'ON Ansibey 344 3
(616 6e0'E18 o suod SNQILO3S SS0ND G —— ST73 ToN| « = |
S6SEE T4 ‘OOUIPA ‘0£Z Xo8 "O'd § S| o84 (+107) a3 His ol aivaan| ci/zz/vd L || 4 |%[L] G
*ONI ‘SINVLIINSNOD ONIdTHNGg @u TATENISSY dH0 Ldvd | e INVWN S3I¥3S 3SIAFM| 91/zz/80| 2 |© = - Lo &
S41 o84 (£10Z) "03 HI9 oL 3lvadn| s1/c0/80 € ﬂ < g 2 3_
o hmwwﬁ.._.o,__,_omwﬁ SY00d ONV SMOGNIM COOMIITTH ovd| 284 (0z0Z) 'ad yiL 0l 3lvadn | 02/0L/81 ¥ 2 m m m rl__. :
\\\im peindaid sjuswnoog +10N3ao0¥d M M m W W 5

Z.020Z ‘0l isnbny

x
BOVEY ON ¢

\\ L) t..
\\\\ &....WQZNO? A

-

‘% \\Q\% m .oo.m ) W/////

1-1/4" MIN.
EMB. (TYP.)

/~ 4\ HORIZONTAL CROSS SECTION

e

INTERIOR

w Shown w/ Direct to Masonry option

Y
S

of 3 threads through at least two (2) sheets

of metal. Maintain 1/2" min. edge distance.

OTE: Sheet Metal Screws must penetrate a min.

o

/"3 HORIZONTAL CROSS SECTION

w Shown w/ Steel Stud option

INTERIOR
EXTERIOR

v

v

EMB. (TYP.)

7”2\ HORIZONTAL CROSS SECTION

8 @D/H /4" MIN.

W Shown w/ 1X Sub buck option

INTERIOR
EXTERIOR

m HORIZONTAL CROSS SECTION

w Shown w/ 2X Buck option

INTERIOR
EXTERIOR

Bmp'e'-1'52691-14\(0202) 52691 Td\sbuimelq - D\SMOPUIM Paxi3 §Z691-Td\s|ercsddy 19npold epuold - YALNINVINYId POOMISaIJ\SIUSHDNIGMINLOIPA\



TON] SINVYLATINSNGD 9NIG™THNE "M'd 102 @

T186 'ON Anisibey ddad SNOISIATY
LBL6'689°CLE "ON 8uoyd zwﬁnwwmmm\mm@mo Ad Avd TONF<+| ol = 7_
S6SESL 14 "OOMIPA ‘0€Z xo8 O'd \§ AP 084 (¥102) "3 HIS OL 3uvadn| Gi/ze/¥0 L || X Ly &8 "
*ONI ‘SINVLINSNOD ONIgTINg g. IA1BNISSY MO Livd | up JNVN SIS 3SIATM| 9L/2Z/80] 2 % M +Q1°
S41| 0a8d (£102) "3 HI9 Ol 31vadn| £1/£0/80| £ NP 2 T 4_
on e - b
- cmmwm%m o%oum%__ SH00d GNY SMOGNIM QOOMLIT T4 oval 284 (0z0z) '3 Yy, Ol 3ivadn | 02/0L/81 ¥ . m m m g o .
-4
:10n00¥d HEIHEE &
{dAL) 'gwW3
o NIW./1-1 =
7 8
s 3|
=
£
V\/ g —
B AN P o m
9] 88
F o TS 2
- rFu. £ B
" v e 2 2 9%
v ; s c » 0k
e = m 5 R
- Slss $8 4
Lies o OT
.t IS3< EEEC
o . A Cw Rl (@]
4 v m d s —_ m M\lu .w
. =32 3= 228
: w2 == 5E 5
v > NS =z N Ok
C. voe 0O Pv. nH. o (>4
VV . — O .m o) w
Y . o} m m
v " by gol B
2%
o O
4 T
QS o
2=2€
S 2
£
23
g 525
000 nE R
= 8=
v 0O 0 ~ wm.m
O 2 2 O I=
=2 (%2 vy [T
= =1 > N . W 4 m
J w o Tx 2
& W o
. e 020
(dAll"D'0 R Z
XYW 91 o
20
= 5
{dAL) %5
N ol
:m C E
25
fa)
o
O
=

Bmpre-1'52691-14\M0202) §2691 T\sBuimei - D\smoputpm paxid 52691 -14\sjeroiddy 19npoid epUold - VALNINVIAYId POOMISSA\SIUBIIDNIGMINLOIPA



\\dcO\rwbc\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-16925 Fixed Windows\C - Drawings\FL 16925 (2020)\FL-16925.1-.3.dwg

13" MAX O.C. (TYP.)

o

g
(TYP.)

6" (TYP.) ——=
16" MAX O.C. (TYP.) —i~

——

) ; . 4/
- 4

1
|

(TYP.)

4"

(TYP)
%

2X BUCK
MASONRY n "
OPENING %
RN i AN N S E
2X BUCK ANCHORING
CONCRETE ANCHOR NOTES:

12" MAX
0.C. (TYP.)

FRAM
2X BUCK

MASONRY
OPENNG )\

2X BUCK

STEEL STUD
(TYP)

1. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

YPE | i SIZE: | -"EMBED;

ITW " " i "
tapcoN® | 1/4 1-1/ 2 4
DeWALT " - " "

uiracon?| 14 1-1/ ! 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

FRAME MOUNT ANCHORING
2X BUCK / STEEL STUD

P.0. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

FBPE Registry No. 8813

Ry

BUCK & FRAME
ANCHORING

PRODUCT:

Lynd F. Schmidt
—=| FLEETWOOD WINDOWS AND DOORS |p/ad90, Fysebr

LFS
JK | PART OR ASSEMBLY:

Ji
BY

- 6" (TYP.) —]
LT 12" MAX O.C. (TYP.)
e
] T
1X BUCK
DIRECT TO
MASONRY
] {TYP.)
<o
<
zE
U
o
FRAM
2X BUCK
MASONRY
OPENNG
] 1 ] |
FRAME MOUNT ANCHORING
1X BUCK / DIRECT TO MASONRY

REVISIONS

8/10/20 |UPDATE TO 7TH ED. (2020) FBC

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

NOJ DATE

3 |08/03/17 |UPDATE TO 6TH ED. (2017) FBC

2 |08/22/16 |REVISE SERIES NAME

~+

DATE: 2/26/14

ScALE:  N.T.S.

Dwe. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16925.1

SHEET _ 5 oF _7

© 2014 R.W. BUILDING DONSULTANTS INC.



\\dcON\rwbc\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-16925 Fixed Windows\C - Drawings\FL 16925 (2020)\FL-16925.1-.3.dwg

5" GLASS BITE

5" GLASS BITE

o~

TN

N

ALUMINUM OR

1.25" THICK GLASS

1/8" ANNEALED GLASS

0.090" SentryGlas® Interlayer

1/8" ANNEALED GLASS

AIR SPACE
3/16" TEMPERED GLASS

STAINLESS STEEL SPACER

G4 GLAZING DETAIL

9/16" THICK GLASS

/— 1/4" ANNEALED GLASS

< . — 0090" SentryGlas® Interlayer

1 S 1/4" ANNEALED GLASS

B

D

@ GLAZING DETAIL

NOTE: GLAZING > 36" WIDE REQUIRES AT LEAST TWO (2) SETTING
BLOCKS CONFORMING TO FBC SECTION 2411.3.3.1.

5" GLASS BITE

AN

&

U

@ GLAZING DETAIL

W 7
& 7
§ A ' 4,/0/’/, 0
< “9." .'-,%)’a 3
Sy € azg
zoid 2 es,
5" GLASS BITE — 1.25" THICK GLASS o532 LO3P 55w
A 23 COS Z 200
7, > A8 H58s
%, S 92> 4z
"/, \\\\ 2 S
———ﬁj 1/4" TEMPERED GLASS ‘1 2 SR.%
L /‘— a O w g.g
B 0 xze
S[ite Z8.,
gl% 63 Zg6a
= °2 Baozl
$ 1/8" ANNEALED GLASS =] PR
[ =4
A i
. = RN
ﬂ S 0.090" SentryGlas® Interiayer <o Ja
%9}
[
%l T l 1/8" ANNEALED GLASS S
| Q
[ (%]
ALUMINUM OR z =
STAINLESS STEEL SPACER 0 tg
G5 CLAZING DETALL S 1 o
o m >
(TYP.) 2 |3 2
o |9 &
8 e
S E S
o] &
el W <
o o o
ZEEES
B
(& (6]
e B
1.25" THICK GLASS 5" GLASS BITE 1.25' THICK GLASS SRS
—S S n
3/16" HEAT ; g38 S
" 2 ]
STRENGTHENED GLASS 3/16" ANNEALED GLASS 5 zlalz [l
o = [h s
~ 0.090" SentryGlas® =ielle
0.090" SentryGlas® Interlayer Interlayer =i b =
Al <D<
3/16" HEAT 2 . Si8|w|&
\—STRENGTHENED GLASS \\ 3/16" ANNEALED GLASS S : : z
(<% Aaad And Aand
SN N
AR SPACE N ¥ AR SPACE §§§§§
O [re) W]
N 3/16" TEMPERED GLASS %} 1 N~ 3/16" TEMPERED GLASS S
=z
ALUMINUM OR ' ALUMINUM OR DATE 2/26/14
STAINLESS STEEL SPACER STAINLESS STEEL SPACER SCAE N.T.S.
DWG, BY: JK
@ GLAZING DETAIL cHk. B:  LFS
DRAWING NO.:
FL—16925.1

SHEET _6 oF _7

© 2014 R.W. BUILDING CONSULTANTS INC.



\W\deOT\rwbc\Clients\Fleetwood PERMANENT\A - Florida Product Approvals\FL-16925 Fixed Windows\C - Drawings\FL 16925 (2020)\FL-16925.1-.3.dwg

BILL OF MATERIALS
fTEM # | DESCRIPTION MATERIAL

A_ | IXBUCKSG >=0.55 WOOD

B_ | 2X BUCKSG >= 0.55 WOOD

C |1/4 MAX. SHIM SPACE -

D | 1/4"X 2-3/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL

£ | MASONRY - 3000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | #10X 2" PFH WOOD SCREW (1-1/4" MIN. EMBEDMENT) STEEL

G | 1/4'x 2-1/4 DeWALT OR ITW PFH CONCRETE SCREW STEEL

H | #10X 2-3/4' PPH WOOD SCREW STEEL

1~ |1/4"x 3-1/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL

K | #10 FH SELF-DRILLING SMS STEEL

L | #10X 2" PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT) STEEL

M| #10X 1-1/2" PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT) STEEL

N | #10 PH SELF-DRILLING SMS STEEL

X | STEEL STUD Min. Thk .033" (ASTM A53 GRADE 33 Fy=33 Ksi Min, Fu=45 Ksi Min] STEEL

1| KONA FIN BLOCK FRAME 6063-T6 ALUM
2 | KONA BLOCK FRAME 6063-T6 ALUM
3 | GLASS STOP (1-1/4") 6063-T6 ALUM
4 | THERMAL BREAK ['LIQUID POLYURETHANE' by Azon USA, Inc.) ;

5 | GLASS STOP (1-1/47) 6063-T6 ALUM
12| SHEAR BLOCK 6081-T6 ALUM
40 | #10X 1" PPHSMS STEEL

50 | BULB VINYL (EPDM 70 DUROMETER) - TREMCO -
51 | MINI BULB VINYL (EPDM 70 DUROMETER) - TREMCO -
55 | SETTING BLOCK -
S
1.85"
| 7.
(: :) SHEAR BLOCK
.
o

i

0.056" —»{ [=—

3.65"

@ GLASS STOP 9/16"

0.75"

(/) 7
}

0.05"

2.82"

SCHMy,

1.06"
\
\\\\

0.78"

2.85"

1 s

@ GLASS STOP 1-1/4"

I/,
Y

Wiy,
-s..oo..
\CENSe

)
<

C
.

>

=078 ——I

45"
It | S -
—[ S } w ‘\‘N 1 E
—! |=— (0.,06"
; @ ‘
@ KONA FIN BLOCK FRAME
45"
[ )
\ * = :
@ KONA BLOCK FRAME S

August 10, 2020

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

Lyndon F. Schmidt

Ry

BILL OF MATERIALS
AND COMPONENTS

PRODUCT:

JK | PART OR ASSEMBLY:

JK

REVISIONS

4 [8/10/20 | UPDATE TO 7th ED. (2020) FBC |DAG|FLEETWOOD WINDOWS AND DOORS |plE " No. 43409

3 |08/03/17 |UPDATE TO 6TH ED. (2017) FBC

2 108/22/16 |REVISE SERIES NAME
1 104/22/15 |UPDATE TO S5TH ED. (2014) FBC

NOJ DATE

DAE: 2/26/14

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16925.1

sHEer 7 oF _7

© 2014 R.W. BUILDING CONSULTANTS INC.



